Tuesday 3.9.2024

Pre - test 1
Maths 1B, Revisi (factori t're 'c?st'?' ] t )
evision actorisation, 1dentities, expansion, roots ... ANSWERS
Problem 1 Simplify the following expression [ /8marks]
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Problem 2 Solving quadratic equations [ / 6 marks |

A] by the method of 'completing the square’

1) Start with :(x—%)2—§—28:0 :>(x—%)2:1—21 :>(x—%):j: 1721 —f =3t

2) Start with :—2[(z —5)2—10]=0 = (z—5)2=10 =[z=>5+/10

B| using the discriminant ( AorD....) A=5b?—4ac

1) A=121>0 = twosolutions: z= _bfa‘/z
2) A=160 = twosolutions: x:%‘g)@:m
Problem 3 Solve the following logarithmic equations [ / 12 marks |

1) 2logg(z —1)=4=(x—1)=3%> =|zr=10, S={10}

2) logs(r —4)+logs(z+4)=2 = (v —4)(z+4)=3*> = [S={5}

3) logo((z—2))=1=(z-20°=9"=2-2=43 = |[S={5}

4) logs(8z)—logy(x—7)=2 = 8f =42 =ax=2x-T7) |S={14}

x—7

5) logh(z) —4loga(z) +3=0 = loga(z)=1or3 [S={2,8}

6) logo(2? —5r+10)=2=2> -5+ 10=2*=| S ={2,3}




